MA 16010 Quiz 10

Simplify your final answer. Show all relevant work for each problem. Little to no work, even
with a correct answer, will receive little to no credit.

1. If f_lg h(x)dx = 25 and leo h(x) dx = 29, find f_23 h(x)dx.
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2. The velocity function, in meters per minute, of a particle moving along a straight line is
v(t) = 10t — 2, where t is time in minutes. Find the displacement of the particle from

t = 3 minutes to t = 6 minutes. S = prsivion Sunction
Displcemeny = () - S(2)
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3. Use the Trapezoidal Rule to approximate [ 09 x? dx using n = 3 trapezoids.
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